Name: 					
Date: 			
Lesson 6.2.1 Homework
· [bookmark: 4-2][bookmark: 4-7][bookmark: 5-5][image: http://textbooks.cpm.org/images/cc3/chap06/CC3_6-46.png]6-46. Louis is dilating triangle ABC at right.  He multiplied each x‑coordinate and y‑coordinate of triangle ABC by –2.   
a. What are the new coordinates of the points?

b. Graph Louis' new triangle. 

c. Describe how triangle ABC changed.

[bookmark: 6-47][image: http://t2.gstatic.com/images?q=tbn:ANd9GcSASbDZ6aQqqPR9thDH6U7wbpEk8kSN12IGUrqb6lyJ67-I4pJYTQ:https://gcps.desire2learn.com/d2l/lor/viewer/viewFile.d2lfile/6605/4738/cp2.jpg]6-47. On the same set of axes, graph the two rules shown below. Then find the point(s) of intersection, if one (or more) exists.  
y = −x + 2
y = 3x + 6




[bookmark: 6-48]6-48. Evaluate the expression 6x2 − 3x + 1 for x = −2.  








[bookmark: 6-49][image: http://textbooks.cpm.org/images/cc3/chap03/stoplight.png]6-49. When Ms. Shreve solved an equation in class, she checked her solution and found that it did not make the equation true!  Examine her work below and find her mistake.  Then find the correct solution.   
[image: 6.1.2-20]






[bookmark: 6-50]6-50. Determine if the statement below is true or false.  Justify your conclusion.   
2(3 + 5x) = 6 + 5x
 


[bookmark: 6-51]6-51. Complete the missing entries in the table below.  Then write the rule.   
[image: 6.1.2-20]
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